Datenblatt / Data Sheet MGB2-L2HEC

B-EC-U-S7-CA-.-

EUCHNER

X4
w..=R-... Detail A wee=L-... X4
SLOT1 SLOT2 Sperreinsatz im ausgefahrenen Zustand
g 0 T Automatic lockoutbar in "open" position.
£ e T o7
5 D
g
£ 3
a
= = Inklusive:
E SLOT1 - Erdungsschraube M6x8
k= SLOT2 (AC-FE-GS-M6X8-170020)
@ - Schliissel FlexFunction
< . = (A-FLX-K-0A-RD-168921)
= Z | (] A Including:
=~ - Grounding screw M6x8
@ - O 8 - (AC-FE-GS-M6X8-170020)
N - FlexFunction key
m % @ (A-FLX-K-0A-RD-168921)
= O ! ~_ 1 ’ Betriebsanleitung beachten
o - | ) (bei Abweichungen zwischen Datenblatt und
< etriebsanleitung gelten die Daten des Datenblattes
Betriebsanleitt Iten die Daten des Datenblatt
<} o 9, Please observe the operating instructions
‘f (in case of disagreement between data sheet and
- = aeassasaas ECIN M8 P-coded operating instructions, the information of the
2 m EC OUT M8 P-coded data sheet are to be considered)
& =
i a“’; | ) \M
5 A\
> ECIN EC OUT ~
6 W 00 = &
M6 a o a a <<
. inklusive Funktionserde Montagématerial )
S  assembly material for functional earth included i = S| ; _ = < | ; T :
= & = =g g : = =g Q & : u
£ 8 |3a|8q|c5|a8| 8 |8a Bg|c@|as| 8 g 8
S = =0 | =2 | X | 22| = =2 =2 x| = = = =
k=] ‘ MGB2-L2HECB-EC-U-S7-CA-R-169334 156392 |169470|169466| 157024 |157025| 164241 |168595|126372| 157024 [ 156718| 157021 163293 100465
'_._:% ‘ MGB2-L2HECB-EC-U-S7-CA-L-169335 156392 |169470|169466| 157025 | 157024 | 164241 |168595| 126372 157024 | 156718| 157022 163293 100465
"‘3 Ubersicht der Kommunikationsdaten:
8  Overview of the communication data:
=2
§ Input
@ Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
Z 1st Byte [ BMEG | - [ BMESYS | \ - [ BMEM2 | BMEMJI | BMDRUN |
e 2nd Byte | Diagnose Byte ] |
B
‘S _ Ethernet" standard Bit 7 Bit 6 Bit5 Bit 4 Bit 2 Bit 1 Bit 0
8 1st Byte M EG [ LMILEER]| LM1LESM | LM1_E_SM0 \ - [ i uK | LM1_I_SK [ LM1_DRUN
® 2nd Byte - | - - | - \ - [ ol | LM1__OT \ LM1__0D
= 3rd Byte Diagnose Byte (pluggable)
2 Ethernet" standard Bit 7 Bit6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
] 1st Byte \ - [ - - [ - \ - [ - [ - [ Lm1_SM1_51 |
@ Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
2 | 1st Byte [LVM1_SM2_E_S3] - [ tm1_sm2_E s1 ] - \ - [LM1_SM21.S3] LM1_SM21S2 | LMI_SM2IS1 |
g 2nd Byte \ Diagnose Byte (pluggable) |
S
E Ethernet” standard Bit 7 Bit 8 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
£ 1st Byte | EMIEG | - [ - [ EM1_E_SM1 \ EM1_E_SMO [ - [ - [ EMIDRUIN |
g | 2nd Byte \ Diagnose Byte (pluggable) |
_S Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
g \ 1st Byte |EM1_SM1_E_S3] - [ - [ - \ - [ EM1.SM1__S3| EM1_SM1_1S3 E | |
2 2nd Byte | Diagnose Byte (pluggable) |
o
g Ethemnet' SAFE Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
o T T T [ oo [ CoTrmT T oot T [ 1
§ i A i - | i - | EMISM1_FI_S3 | LMI_SM2_FI.S3 |LM1_SM2_FI_ESj LM1_FI_UK | LMI_FI_SK
is Output
§ Ethernet” standard Bit 7 Bit 6 Bit5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
o 1st Byte | BMACKG | | - [ \ . [ _ [ _ |
S Ethernet” standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
g | 1st Byte [ LM1_ACK G [LM1_ACK ER] - | - [ - | - [ - [ woct |
§ Ethernet” standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
§ 1st Byte \ - [ - [ - [ [ IMISMIOHIB | - [ - [ LM1_SM1 O H1 |
%1 Ethernet" standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
& | 1st Byte \ - [ [Lmi_SM2_0_H3 B] M1 SM2OHZB [ LM1_SM2_OHI B [LM1_SM2 O H3[ LMISM2OH2 | LMI_SM2OHI |
% Ethernet” standard Bit 7 Bit8 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
= 1st Byte | EM1ACK G | - [ - - \ - [ - [ - \ - |
z | 2nd Byte * | EM1 O H4 B [EMI_ O H3B] EMI OH2B | EMIOHI B | EM1_O H4 [ EMIOH3 | EMIOH2 | EM1_0_H1 |
(5]
2 Ethernet” standard Bit 7 Bit 6 Bit 5 Bit 4 Bit 3 Bit 2 Bit 1 Bit 0
s | 1st Byte [ - [ - - [ EM1_SM1_0_H3_Rd_B [ EM1_SM1_0_H3_Gn_B [ EM1_SM1_0_J3[EM1_SM1_O_H3_Rd[EM1_SM1_O_H3 Gn|
o
< __EthemetSAFE Btz _ Bité | Bits Bit4 ] Bts _ __ Bt2 _ _ _ Btt _ _ _ _. Bto
2 | I I I \ I I | I
g A : - ! : - ! : - ! - : - ' LMIFOCL
e L _ . .. e R, e N AR S |
3 * Mit Stecker 157029 oder 161345 in X2 / With connector 157029 or 161345 at X2
2

2153726 - 5- 08.07.24 - JRK - KJ - OE Blatt/sheet 1/1

EUCHNER GmbH + Co. KG KohlhammerstraBe 16 70771 Leinfelden-Echterdingen

) Ethemet Protokoll in Abhéngigkeit des verwendeten MBM Busmodul / Ethernet protocol according to the used MBM Busmodul

Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de



	Blatt1
	Zeichenansicht7
	Zeichenansicht8


